





ICM Functions Worksheet #2

1. The graph of f(x) is given. Graph:

A. f(X) -3 down 3 :
B, f(x+1) lebt | i

C. f(x-2)+1 rignt 2, up | 8|

D. ‘f(X) rebl. over X-onaS 1 1_ .

E. -f(x+1) (&t 4 vefPleck over x034S S 3

F. f(-X) -2 veHeck gverwyy oS jdoun?

G. %f(X) vevt. Shrink X S

H. 2f(x) Vet stredchaxz |
I [f(x)l per tiad rebl. over > -ows 1

2. Given the function f(x) = 1/x, write the function whose graph of f(x) is:

1

A. shifted 6 units to the left A, $x)= 336 E f(=)=H4H
B. reflected about the y-axis X
- B, +0)= —

C. reflected about the x-axis : )= l

D. shifted 5 units up \ Floe)= — { F. { (x) = et

E. vertically stretched by a factor of 4 C. vrler > ‘ X

F. horizontally compressed by a factor of 1/3_ | .

{ (< \ = 4 7 b
x

3. Write a function that is obtained agffer':’rhe following transformations are applied to y = |x|:

A. shift 9 units right, shift 4 units down

B. reflect over the y-axis, reflect over the x-axis, shift 2 units down

C. vertically stretch by a factor of 5, reflect over the x-axis, shift 8 units up ‘

A y= | x-a| -4 B. \I‘-:-l—x\ —Z C. Y= ’5l><\+%,
4. For each graph, sketch [f(x)|.
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5. Use the graph of f(x) to help you write an equation for the graph of g(x).
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6. Identify the parent graph of each equation and describe the transformations from the parent

graph. o
A. y=-7+|X| A, b*lx} j'h.p* cown 1
g- Y=21+51XO3 B, ‘.j: X‘S vert. stredch \Di_sa"{‘u(’jft‘( g'( 5) Shvf4 w P 2
L y=-=- . . ‘ . ‘
D. y-= afF+3 s 4= 72 reflect over X-owus , shift down IO
E. y=-x*+4 D e \r)? Yir). Stretth b(,()ck @fda C‘* ¢ <L\\(% u 3
F. y=-3(x-5)- V) £ h Y
6. y=-3*+8 E. Y % yefleck over x-S, sl “Ld |
H. 'y = 2legx)-1 F = x S\I\‘gWL th* T Vk\“l(u\ Qﬂk*(\/\ l"'L) chfC}'
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